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General Instructions :

(i)
(ii)
(iii)
(iv)
{v)
{vi)
(vii)
(viir)

{ix)

31/2/1

The question paper comprises of two sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

All questions of Section A and all questions of Section B are to be
attempted separately.

Questions number I to 4 in Section A are one-mark questions.
These are to be answered in one word or one sentence.

Questions number 5 to 13 in Section A are two-mark questions.
These are to be answered in about 30 words each.

Questions number 14 tv 22 in Section A are three-mark questions.
These are to be answered in about 50 words each.

Questions number 23 to 25 in Section A are five-mark questions.
These are to be answered in about 70 words each.

Questions number 26 to 41 in Section B are multiple choice
questions based an practical skills. Each question is a one-mark
question. You are to select one most appropriate response out of the
four provided to you.
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SECTION A
1. 39 FEt dfts 9ot & e 99 & AW o g fafgu, e wwaies 9
o .
[
-C-OH &1 1
Write the name and formula of the first member of the series

O
|1

of carbon compounds having functional group — C - OH.

2, Wﬁaﬁm%%@mmmﬁml 1

State one function of the crystalline lens in the human eye.

3. aggvsd ¥ Ieacl TR W A F &= Fd 2 ? 1
What is the function of ozone at the higher level of atmosphere ?

4, fd | & A D W AR YEer | Fer Ff

g - 3 - W)
Ife g9 A 10000 J TR S5 Iuere 2, O I F WHARRT & & fau fed & o
Rl el 3UA= gl ? 1

Consider the following food chain which occurs in a forest :

Grass — Deer — Lion

If 10000 J of solar energy is available to the grass, how much energy
would be available to the deer to transfer it to the lion ?

5. A< 39 o= far MU
Be, oF, 1K 5Ca
() ¥ T T NEF TR SN ¥ T fEi R
(i) ®IH TR & Q T gAY | 2
Choose from the following :
sBe, oF, 1K, 5Ca
(1) The element having one electron in the outermost shell.

-(i1)) Two elements of the same group.

31/2/1 3 P.T.O.
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6. frdl avd H WA WA 137 1.
(a) 39 a9 F WHE €& a1 AGd d& R g ?
(b) T% O U] 2 IS AR 2 I SW H g e
An element has atomic number 13.

(a) What is the group and period number to which this element
belongs ?

(b) Is this element a metal or a non-metal ? Justify your answer,

7. o ¥ wifge wada fafy & 3w s % Q@ o Y g weRe | A Ry e dw
90 QW g R o ¥ I fafy &1 3w fean S @

List two advantages of practising vegetative propagation in plants.
Select two plants raised by this method from the list given below :

banana, gram, pea, rose, tomato, wheat

8 WA W F AT dF F 37 U N G IR @ 9 B T Yo Fd g | A @
YR @ fies e § e fafag

List the parts of human male reproductive system which contribute
fluid to the semen. State two advantages semen offers to the sperms.

9. YEII fWU 3@ died & AU g7 @ v SRR F1 3@ K 71 3 fRu &
TAE 39 TR fEm S R fF oW ¥ erada $ Uver 3 I Wed ¥ 91
T OEE | TH TER H Y Rl S G wsT 79 oW ¥ 9aEds & qvE 3R
F 9y faf@r | @ I Ol @ I ) 399 °F % f AW 2f & &= fiag
fam & o9 g0 3 vafam F ffd 3@ 360 § FifST |

To construct a ray diagram we use two light rays which are so
chosen that it is easy to know their directions after refraction from
the lens. List these two rays and state the path of these rays after
refraction. Use these two rays to locate the image of an object placed
between ‘f” and ‘2f” of a convex lens.

10. IZYAY a9 O ¥ fAU vEw fewr oM difag aw 98 fag sifea AT @l
(i) of fammur, (ii) Sale weadT far @ |
Draw a ray diagram to show the formation of a rainbow and mark
the point where (i) dispersion, (ii) internal reflection occurs.

31/2/1 4 ,
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“gredfas WO A A GA % §HA & s oo @) fide & =R A
T I F IR AL P TE ANE R T HT
“The time difference between the actual sunset and the apparent

sunset 1s about 2 minutes.” What is the reason for the ‘same ?
Explain with the help of a diagram.

W A9 fafawar F faly wa” = A @ € 2 W D 3 A P TR
e & T FE @A A 99 Td aeied & Ya¥E § W aed s g
g

Why are forests considered “biodiversity hot spots” ? List two ways in
which an individual can effectively contribute to the management of
forests and wildlife.

“Hafyd e & o fafEe | g uwe & geer § 9T 394 I 21 fee
TEX H 7

State the meaning of “sustainable management”. Reuse is better than
recycling. How ?

FrfT AT F TedHT afufmar aur g sfafm & S e Fife sk
% % fou ofufra & vorfe wfie ot fafae | () TR aw (i) sREE
sfufran &1 @1 Iygm @ 2

Distinguish between esterification and saponification reactions of
organic compounds with the help of the chemical equation for each.
What is the use of (i) esters and (ii) saponification process ?

(a) @ R amyf aad gl # fead omad § 2

(b) foEt o ¥ IW A W IR W, ] Gog, @ase@ au gfes agoi
¥ @ qiEdd g 2 ?

(¢) 18 smad ¥ 9 o ¥ T 3N 97 W T F WA RS H qU uifas
a0 ¥ R TR =R AT 2 2

(a) How many periods are there in the modern periodic table of
elements ?

(b) How do atomic radius, valency and metallic character vary down
a group ?

(¢) How do the atomic size and metallic character of elements vary
as we move from left to right in a period ?
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17,

18.

19,

20.

T=1 w1 UF 9 &t fafEe | wEE ¥ 99 & UH I H ey ¥ Wy F o

What is AIDS ? Which microbe is responsible for AIDS infection 7
State one mode of transmission of this disease. Explain in brief one
measure for the prevention of AIDS.

“F A A e F1A § o swwal @ et vt © F Fwrpa 9@ =
g 1 FH T4 W T Ie0 W wREal § F S0 aw gwar o o
fofaT |

“An individual cannot pass on to its progeny the experiences of its
life-time.” Justify the statement with the help of an example and also
give reason for the same.

() & <R, @, seRivy qu weefedl ¥ afd dwa § ) @ adl
g oA fEdE I # e & ¥ fe oS wew @ 2 w2

(i) U MO & Icoi@ s foms g0 9% fog fear -1 @& f& i
fe@ wOgd @ gam & |

(1) We see eyes in planaria, insects, octopus and vertebrates. Can

eyes be grouped together in case of the above-mentioned animals
to establish a common evolutionary origin ? Why ?

(i) State one evidence to prove that birds have evolved from reptiles.

YR IRE & weEel § way ¥ wy fitvw & oome § R qeem foy @
ey g ¥ @ fafon e yoR fear sy § 1 W g faen, QF B @ &
forgy & fon fuieor & form ove @ 2 2

With the help of a flow chart explain in brief how the zex of a
newborn is genetically determined in human beings. Which of the two

parents, the mother or the father, iz responsible for derermination of
sex of a child ?

frer feafed] & sqw <do & y@ R fAfeEw
i el wR w am-dy (d8-eme)
(i) R awA @1 UvE-gRE Qg

(iii) @R gt

Ao IR FH FRV wied yfE HET
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Name the type of mirror used in the following situations :
(1) Headlights of a car

(ii)  Rear-view mirror of a vehicle

(111}  Solar furnace

Support your answer with reason.

21, ®% 4 cm T A3 24 cm B8 g F R T oW F 9ET W & oEaq e
Ridm e fam & g0 16 cm # 1 9% g7 F IWM & I g Yafag I gl
(Feafa), wrss o w&fa 3= sifam ) 3

A 4 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 24 ¢cm. The distance of the object from the
lens is 16 c¢m. Using lens formula, find the position, size and nature
of the image formed.

22, f@e 3f W-g%F 9 £ W I F OE A @ YA & WA & fAw wwmwm
fet amm @ifaw | 38 32 <9 % 309 @4 & I w0 & g SR |
fre e 29T 33 o @ = o m § uw g W fe Tl W we @
S@ U | 39S 39 B I & d@eifiq 0 A oF Y y=E @ 8 2 39 TER
& AW ZW 39 T 2 F wvYA A F o e s TRT 3
Draw a diagram to show why distant objects cannot be seen distinctly by
a myopic eye. List two reasons due to which this defect of vision may be
caused.
A person with a myopic eye cannot see objects clearly beyond a distance
of 2m. Name the type of tbe corrective lens that would be needed to
correct the defect of vision and draw a ray diagram to show how the defect
gets corrected.
23. (a) frel 3fac CETwr & weEd ®, @9 9 ufwar & fau smavas oRfefad
T 3R @ & e sdifre e ¥ §9 g fel ve oftads @ e
FA TU FESISHIST F UERG F A FAFT
(b) YW FETEEA FArA § fE ver dfufFa F4 7 0 swe fou tamfw
g fafEay | R f&e yeR & sl FEend & s &= 2 5

A

TarETE 3fF § W aq wunes @ @ 7 6N g Awd Fw & G @ ww
FFTT | BT Ao BF G o B NUUNE ¢ W NUT FUT F O FH4 8§, FRO0
fafaa |
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24.

F(IaEE itht-the help of a suitable example, explain the process of

u&:a 1001 o . . )
vdrogenation mentioning the conditions of the reaction and any
one change in physical property with the formation o¢if the
product.

(b) How does a saturated hydrocarbon react with chlorine ? Write
chemical equation for it. What type of reaction is it called and
why 7

OR

What are soaps and detergents chemically ? Explain the action of
cleaning by soaps. State the reason why we can wash our clothes
even in hard water using detergents.

(1) UH oR@ & WEEd ¥ WP R F WD T P F afEE Woager &
YA NS (T R F AR TS (3 ) a5 g § 39
qEEE Bl B 1 39 W § IvEnm, AR e, W TEE q9 G &
AW &IWE |

(i) W & Y fafEu 9o wWE i W F @ e & At o
#H I BT |

argan
WY T 3 ufieddl & Icold Fifew o feer fofae sws (As) # sHe o
S AT Y AR & S99 o T g § 1 9 R s & PR E 8, @
g § 7

(i) Explain with the help of a diagram how pollen after landing on
the stigma of a flower helps male germ cell to reach the female
germ cell. Label the following : ovary, female germ cell, male
germ cell and pollen grain.

(ii) State the meaning of pollination and mention a distinguishing
feature between self-pollination and cross-pollination.

OR

State in brief the changes that take place in a fertilized egg (zygote!
till birth of the child in the human female reproductive system. What
happens to the egg when it is not fertilized ?
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25. Treld W€l F @R & oUEdd & fau fug uwiwel F OYE SRC ) G ARG
Gioet 39 fog oo &1 gy fedt U8 Tieltd o9 & 9 g0 W@ ¥ §id
A A AGC S AW 16 om R fom & fow w1 AR T omefda anefae
yidfas S @ 5

HYgqar

YERT % AU & faw fafae | fRe wrem & fuy sedais aun fAata § s
T U F oY Y & U G eis [ d@y |

et wrem % 1 WM Y ¥ W0y SEddis 2/3 8 AW werw Yy & el e
TN ‘7 & WUE SUNGAIS 4/3 8 | AAR 7 ® W X & SO SYadAE g
T | '

List the sign conventions that are followed in case of refraction of light
through spherical lenses. Draw a diagram and apply these conventions in
determining the nature and focal length of a spherical lens which forms
three times magnified real image of an object placed 16 ¢cm from the lens.

OR

State the laws of refraction of light. Write an expression to relate
absolute refractive index of a medium with speed of light in vacuum.

The refractive index of a medium X’ with respect to y’ is 2/3 and the
refractive index of medium ‘y with respect to ‘Z’ is 4/3. Calculate the
refractive index of medium ‘z’ with respect of ‘x.

T g
SECTION B
26. TH o & TS fhedl & AGa S H uen T | W fawaE &3 1
(&) T T |
(B) wiH T
(C) g Hlen
D) 'y Hien

Some crystals of ferrous sulphate were dissolved in distilled water. The
colour of the solution obtained was

(A) dark green
(B) pale green
(©) light blue
(D) dark blue

31/2/1 9 P.T.O.
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27, I BE IR WaEA@d § wur Uit wethe, FR Tekhe, WW TR T e
T & I foued da yow facd ¥ uE 981 @R @& Y9 e € 1 5T ung
T T F W % T8 Ul 2 fF Faw I Y9 W w9 0 WA 9E ¢ 9 g

=
Q

(A)  Cofafrae we faaaq o
(B) &R dhe fgeraa ¥
(C) U go%e faoga ¥
(D) = acte faoga 8

A student puts one big iron screw each in four test tubes containing
aqueous solutions of aluminium sulphate, copper sulphate, ferrous
sulphate and zinc sulphate. -After some time he observed a reddish
brown coating only on the surface of the screw which was put in the
solution of

(A) Aluminium sulphate
(B) Copper sulphate

(C) Ferrous sulphate
(D)  Zinc sulphate

28. Udifew apw ¥ Ty Il §

(A) TR S
(B) @ S
(C) g F W
(D) fos S

Acetic acid smells like
(A) an orange

(B) an onion

(C) lemon juice

(D)  vinegar
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29. foema whgwr # g Mwyor fem s @ f Ueifes ovd &1 s e
(A) i foemg &t T W a @
(B) A foeng %t @Id & I 2
(C) o ferews & e & & 8
(D) o foend & TR & 3 2
In a litmus test it is observed that an aqueous solution of acetic acid
turns
(A)  Dblue litmus colourless
(B)  blue litmus red
(C) red litmus blue
(D) red litmus colourless

30. H% TF a, b, ¢, T d IfFT IR WA @l ¢ (AH FAT NaCl, Na,CO,,
NaHCO, @1 NaOH R g ! &8 af-9k ¥ & wade ¥ Uifes o swem @
I g & 3 WEASH & T@ & fAde ot dieh @ § | 9€ A@ T I @
5 sl o el g rh 2, 3§
(A) asiRb
(B) b3k ec
() c3kd
(D) d3ika
A student takes four test tubes marked a, b, ¢ and d containing
NaCl, Na,CO,, NaHCO, and NaOH respectively. He adds acetic acid
to the test tubes one by one and every time he immediately brings a
lighted match-stick near to the mouth of the test tube. He observes
that the match-stick extinguishes in the cases of
(A) aandb
(B) bandc
(C) cand d
(D) dand a

31/2/1 11 P.T.O.
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FIREERdgeetiong 4§ smfim gara s ol @ &F IfF X 9EEe 595 1@ W
fafora wfdfom @ & & 1 @@ e X & TR

(A) 3faa TUw
(B) 3@ o™
(C) oo &9
(D) @1 @ AT YO @ I AN

Parallel light rays from a distant object incident on a device X’ form
a point size image on a screen. The device X' must be

{A) a concave mirror
(B) a convex lens
(C) a concave lens

(D) either a concave mirror or a convex lens

32. fodt 3@ & fedl gog fom & € W iaam TW & 6@ 3T o9 F wEE
T fifE & & 1 o= oo e &9 § o @ 99 fer e e 3w 7+
e 2

a. A (S 3 cm) TH B oG I |

b. 9 a3 (38 5cm) = 7 IF 7 |

c. 9 ¥ s g w fam 94 |

d WIfEgd @ Y FxIhE A
e.  WR & T T3 A W |

f R H FH-Y-H9 TH & )

(A) a,c R e
(B) b,d3Rf
() a d3IWf
(D) b, d3R e
31/2n 12
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A student has to determine the focal length of a convex lens by
obtaining the image of a distant object on a screen. Which of the
following measures should he take to obtain better results ?

2 Select a lens of small diameter (say 3 cm).

b. Select a lens of larger diameter (say 5 cm).

c. Select an object very far frem the lens.

d. Select an object far, but not very far, from the lens.

e. Keep all the lights of the room on.

£, Keep minimum lights of the room on.

(A) a,cande

(B) b, dand f

(C) a,dandf

(D) b,dande
33.rthHXYaﬂIZWﬂmgﬁnqﬁm’fﬁ;mmm ; foq W stade adn

R G g0 IR R @ ¢ ) X e A Feeay fasd @) fra B B 5t

wfafya e & W@ E ) Y TS % w2 F whe Idl Fa # vialEs 39w
2 ol 7 gt W fig % anw W AR W@ e § ) DS gl W wad Wy

R WS A A/ OH 8/ 1
(A) X
(B) Y
(Cy Z

(DY X &u Y A

Three students X, Y and Z are finding the focal length of the given
concave mirror by obtaining the image of the object selected by them.
X obtains the image of the grill of the nearest window of the lab. Y
obtaing the image of a white painted building near the lab and Z
obtains a point size image of the sun. The maoast correct value of the
focal length is obtained by

Ay X
B Y
© 7.

(D) X and Y both

31/2/1 P.T.O.
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o Yyarthl, o s et e fo 1 e ot ) i @
ERERRIuRenE & yafs wawmst ¥ ¥ faut oy @) waEw ofom ww 8N

F e & 2 (P, ¥R P, wan ¥ fag od fid i fefaei §) 1
\Ga\ P2 \\'. . \G)\Pz " . ‘
| QP, ‘\ \‘@\Pz
oP, QP 13! eP)
I 11 I11 v

A) 1
(B) 1II
(C)y III
D) IV

While performing the experiment on tracing the path of a ray of light
through a rectangular glass slab, in which of the following
experimental set-ups is a student likely to get best results ? (P; and
P, are the positions of the pins fixed for the experiment)

)

o P . . .

O‘\ 2 ‘\ \®\P2 \\\

\\ &'?Pz ™, \\@P2

oP, oP, oP) WP

I 1I III IV

Ay I
(B) 1II
(¢ III
D) IV

31/2/1 P.T.O.
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FREEEduccmoimm%mmgﬁﬁmﬂm%wwﬁg:ﬁ
TUIY S9N 3MW TN, St 981 98 %9 § Aaftyd T § 1

%@@@@

5 ARG 1 T BT B R
A I IV, I, I
(B) IV IIL I, 1II
©) HIL LIV, 1

D)y IV, II I

After observing a slide, a student draws the following diagrams for
different stages of binary fission in Amoeba which are not given in a
correct sequence here.

oD @Y & &

The correct sequence of these diagrams should be
A UL IV, I, II
B) IV, I, I, II
(C) III, I, IV, 11
(D) IV, I III, 11

31/2/1 16
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, 37 FREETH Bl foR ©5e & @ed & Ja &0 & wwae A= e s
diaar # (3 omw ¥ vl T @ 1

(A) T b qFe & fmo

(B) @ ¥ dafa sifewed w fmin
(C) nflan ¥ fg@ved

(D) apfar o geug & i

A student draws the following diagram after observing a prepared
slide under a microscope. This illustrates

(A) bud formation in yeast
(B) formation of daughter cells in yeast
(C) binary fission in amoeba

(D) pseudopodia formation in amoeba

38, a1 ¥ vH ® G ¥ gged ® b dan wge fred v 1 f-fim oEl 3 s

wia & IER fim-fm ome g | 7 9 SR e A Ry e # 1
11T v
W wE amag #/F
(A) 1
(B) II
(C) IFIV
(D) II§ III
31/2/1 17 P.T.O.
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FRE&M@'ﬂﬁgﬁde of budding in yeast was shown to the students of a
class, Different students made different sketches on the basis of their
memory. Out of these, four diagrams are shown below :

0 68 ¢

The correct diagram(s) is/are

Ay I
(B) 1II
(C) TandIV

(D) 1I and III

39. eyt & | o WA 99y ot Be 3 fr=fofaa @ o
FH A fow U 9F W F=EH =25 g
frm @ @ feufiel ST se@am =5 g
firm & wvaR RofEel & s=mE = 8 ¢
YA & Y 9 ¥ 99 9 & FmE = 21 g

frufirell g7 sawfya 99 = yfavea @

@A) B8-2Ve 4
25g
B) (8-5¢g x 100
¥4
©) 2°-2D8 149
AN
@ B8 . 100
8¢g
31/2/1 18
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(A)

(B)

(C)

(D)

‘40. frarel g oY oE ® Yewdd fuifd &0 ¥ we ¥ sifom a4y @

While performing an experiment with raisins, a student took the
following measurements :

Mass of water taken in the beaker = 25 g
Mass of raisins before soaking =5 ¢
Mass of raisins after soaking = 8 g

Mass of water left in the beaker after experiment =21 g

The percentage of water absorbed by raisins is

(26 -21g <
25g

100

(B-58)g .
Sbg

100

(25-2D)g
2l g

x 100

(8-5)g «
8¢g

100

| Jh faufedl & g8 A Hfafcs S # e o @ 1 FEs w6 fafy @
| (A) o ReemRl @ q@ d dEu
(B) st fewfael ® t@ & A9 dEg
(©) i feufel W e W9 @ @ & A et
(D) v fFufael W fafe 99 1 et T @ difey
While performing the experiment of determining the percentage of
water absorbed by raisins, the extra water left on the surface of
soaked raisins 15 removed before final weighing. The correct procedure
for this is
(A)  keep the soaked raisins under the sun
(B) keep the soaked raisins under fan
(C)  wipe off the extra water using dry cotton wool
(D) wipe off the extra water using filter paper
31/2/1 P.T.O.
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